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x 1
The eigenvalues of matrix A= L } are 4, =—2 and A, =—4,then
y

1. x is(a)2(b)3(c)-2(d)-3(e) none.
y is(a) 2 (b) 3 (c) -2 (d) -3 (e) none.

N

-1

3. The eigenvector correspondingto 4, =—2 is (a)[u] (b) E] (c) [1] (d) [ L

L L ] (e) none.

4. The eigenvector correspondingto A, =—4 is (a)m (b) B] (© [ﬂ (d) [_11] (e) none.

5. The inverse matrix A™ is
@35 S1®i5 Sleil D@l Flei T
6. The diagonal matrix of A is

(a)[; g] (b) [_01 —01] () [_01 —04] (4) [_ﬂz —04] (e) [ﬁ —ﬂq-]'

-3X ;

If y=ce ™ +c,xe™> +x% >isthesolutionof y + Ay +By = f(x) and y(0)=y (0)=1.

7. A is(a)3(b)6(c) 9 (d) 12 (e) 15.

8. B is(a)3(b)6 (c)9 (d) 12 (e) 15.

9. f(x)is(a) e (b)2e> (c)3e> (d)4e™ (e)5e .

10. ¢, is(a) 0 (b) 1 (c) 2 (d) 3 (e) 4

11. ¢, is(a) 0 (b) 1 (c) 2 (d) 3 (e) 4.

Consider the Laplace transform and inverse Laplace transform

12. L{5(t)}yis (@) 1 (b)1/s (c) 1/s°(d) 1/s® (e) 1/s*.

13. L{u(t)}is (@) 1 (b)1/s (c) 1/s*(d) 1/s® (e) 1/s*.

14. L{cos(t—3)u(t—3)}is(a) 1 (b) 1/(s+1) (c) se>*/(s+1) (d) e®*/(s>+1)(e) se > /(s*+1)

15. L1/ (s* +1)°}is (@) 0.5(sint—cost) (b) 0.5(sint—tcost) (c) 0.5(tsint—cost) (d)
0.5(sint+tcost) (e) 0.5(tsint+cost)

Consider the Fourier series expansion f(t)= f(t+27)=a, +Z(an cosnt+b, sinnt) =1+ 2cos 2t + 3sin 3t
n=1

16. a, is@) [ fMdt (o) [ fRat (© ljz”f(t)sinntdt @ L [ f(tycosntdt (e) none.
0 0 30 7 J0

17. b, is@ [ f®dt b) [ f®dt (© 1 [ fmsinntat (d) 1 [" t()cosntdt (e) none
0 0 7 90 o

18. a, is (a)0(b)1(c)2(d)3 (e) 4
19. a, is (a) 0 (b) 1 (c) 2 (d) 3 (e) 4
20. b, is (2)0(b)1(c)2 (d) 3 (e) 4.
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